
 

 

 

  

 

Class : 10 



 

 

1.   The HCF of two numbers is 16 and their product is 1536. Find their LCM. 
 

2.  A rectangular courtyard is 18 m 72cm long and 13m 20cm broad. It is to be 
paved with square tiles of the same size. Find the least possible number of such 
tiles.  
 

3. Prove that   √  is an irrational numbers. 

4. Prove that    √  is irrational. 

5. Determine the prime factorization of each of the following positive integers.    
1. 20570          2. 58500            3. 45470971 

 

6. Check whether    can and with the digit 0 for any natural number n. 
7. Giver that HCF (306,657) = 9, find LCM (306,657) 

8. Find the smallest number which when increased by 17 is exactly  divisible by both 
520 and 468. 
 

9. Find the HCF and LCM of 144, 180 and 192. 

10. Show that √  is an irrational numbers.  

11. Find the zeroes of the following quadratic polynomials and verify the relationship  
between the zeroes and their coefficients. 

(i)  √         √       (ii)            (iii) √        √  
12. Find a quadratic polynomial, whose zeroes are :  

 (i)   √    √               (ii) 
  √ 

 
 
  √ 

 
 

13. If   and   are the zeroes of the polynomial  ( )            then  
    find the value of the following :  

 (i)                                 (ii) 
 

 
 
 

 
            (iii)         

14. Solve the following system of linear equations using the method of    
    substitution :  

(i)                  
(ii)                  
(iii)                       

15. If -5 is one of the zeroes of           and the quadratic polynomial 
 (    )     has both the zeroes equal to each other. Find    
16. If 1 is a zero of the quadratic polynomial  ( )       (   )     then find 
the  value of     
 



 

 

 

1. Why do veins have thin walls as compared to arteries? 

2.  What will happen if platelets were absent in the blood?  

3. Plants have low energy needs as compared to animals. Explain.  

4. Why and how does water enter continuously into the root xylem?  

5.  Why is transpiration important for plants?  

6. How do leaves of plants help in excretion?  

7. Explain the process of nutrition in Amoeba.  

8. Describe the alimentary canal of man.  

9. Explain the process of breathing in man.  

10. Explain the importance of soil for plant growth.  

11.  Draw the diagram of alimentary canal of man and label the following parts. 

Mouth, Oesophagus, Stomach, Intestine  

12. How do carbohydrates, proteins and fats get digested in human beings?  

13. Explain the mechanism of photosynthesis.  

14. Explain the three pathways of breakdown in living organisms. 

15. Describe the flow of blood through the heart of human beings. 

16. Describe the process of urine formation in kidneys. 

  



 

 

Q1. Define Light. 

 Q2. State laws of Reflection.  

Q3. What do you mean by centre of curvature of a plane mirror?  

Q4. What is a diverging mirror?  

Q5. How is the image formed by concave mirror when,  

a. Object is at centre of curvature (C)  

b. Object is at Infinity.  

c. Object is at Principal Focus (F)  

d. Object is between Principal Focus (F) and Pole (P)  

Q6. Explain the sign convention used for convex and concave mirror. How are they 
different? 

 Q7. Derive mirror formula.  

Q8. What do you mean by Magnification? How it is different from Power?  

Q9. What are the laws of Refraction? Explain the term ‘Refractive Index’.  

Q10. What is lens formula? How it is different from mirror formula? 

Q11. An object is placed 20 cm in front of a plane mirror. The mirror is moved 2 cm 
towards the object. The distance between the positions of the original and final 
images seen in the mirror is:   

a) 2 cm  b) 4 cm  c) 10 cm  d) 22 cm 

Q12. A ray of light that strikes a plane mirror PQ at an angle of incidence of 30o , is 
reflected from the plane mirror and then strikes a second plane mirror QR placed at 
right angles to the first mirror. The angle of reflection at the second mirror is: 

 a) 30°  b) 45°  c) 60°  d) 90°  



 

 

 

 

Q13. An object is placed at 100 mm in front of a concave mirror which produces an 
upright image (erect image). The radius of curvature of the mirror is: 

 a) Less than 100 mm  b) Between 100 mm and 200 mm 

 c) Exactly 200 mm  d) More than 200 mm  

Q14. Which position of the object will produce a magnified virtual image, if a 
concave mirror of focal length 15 cm is being used? 

 a) 10 cm  b) 20 cm  c) 30 cm  d) 35 cm  

Q15. A concave mirror produces a magnification of +4. The object is placed:  

a) At the focus     b) Between focus and centre of 
curvature  

c) Between focus and pole   d) Beyond the centre of curvature  
  



 

 

 
Q1. Why should a magnesium ribbon be cleaned before burning in air? 

Q2. Write the balanced equation for the following chemical reactions. 

       (a) Calcium hydroxide + Carbon dioxide → Calcium carbonate + Water 

       (b) Zinc + Silver nitrate → Zinc nitrate + Silver 

       (c) Aluminium + Copper chloride → Aluminium chloride + Copper 

       (d) Barium chloride + Potassium sulphate → Barium sulphate + Potassium 

chloride 

Q3. Write the balanced chemical equation for the following and identify the type of 

reaction in each    case : 

     (a) Potassium bromide (aq) + Barium iodide (aq) → Potassium iodide (aq) + 

Barium 

     (b) Zinc carbonate(s) → Zinc oxide (s) + Carbon dioxide (g) bromide(s) 

     (c) Hydrogen (g) + Chloride (g) → Hydrogen chloride (g) 

     (d) Magnesium (s) + Hydrochloric acid (aq) → Magnesium chloride (aq) + 

Hydrogen (g) 

Q4. A solution of a substance ‘X’ is used for white washing. 

    (i) Name the substance ‘X’ and write its formula. 

    (ii) Write the reaction of the substance ‘X’ named in (i) above with water.   

Q5. Translate the following statements into chemical equations and then balance 

them. 

   (a) Hydrogen gas combines with nitrogen to form ammonia. 

   (b) Hydrogen sulphide gas burns in air to give water and sulphur dioxide. 

   (c) Barium chloride reacts with aluminium sulphate to give aluminium chloride and 

a precipitate of          barium sulphate.      

  (d) Potassium metal reacts with water to give potassium hydroxide and hydrogen 

gas. 

Q6. Balance the following chemical equations : 

   (a) HNO3 + Ca(OH)2 → Ca(NO3)2 + H2O 

   (b) NaOH + H2SO4 → Na2SO4 + H2O 

   (c) NaCl + AgNO3 → AgCl + NaNO3 

   (d) BaCl2 + H2SO4 → BaSO4 + HCl 



 

 

Read the chapters and answer the following questions: 

 A Letter to God   

 Dust of snow 

 Fire and Ice  

 Answer the following questions (20-30 words): 

I. Who was Lencho? What were his main problems? 

II. How would you describe Lencho? 

III. What did Lencho compare the raindrop to and why? 

IV. Why was Lencho’s soul filled with sorrow? 

V. Why did Lencho not want the money to be sent through mail? 

VI. What does the poet Robert Frost want to convey through the poem ’Dust of 

Snow”? 

VII. How has the poet observed ‘nature’ in the poem ‘Dust of Snow’? 

VIII. Why does the poet use such poetically uncommon bird and tree? What does 

it reflect? 

 Answer the following questions (100-120 words) 

I. Give a character-sketch of Lencho 

II. How did the hailstones affect Lencho’s field? What was Lencho’s only hope? 

III. Small things in life make significant changes in our life. Elaborate with 

reference to the poem’ Dust of Snow’. 

IV. Discuss how extreme behaviour can hasten the end of the world with respect to 

‘Fire and Ice’. 

V. Our attitude towards a situation evokes both negative and positive response. 

Analyze this with reference to the poem, ‘Dust of Snow’ to bring out the 

inherent valuable lessons. 

Note: 1. complete your book back exercises of these chapters. 

 2. Do Holiday home work in English copy itself. 

PROJECT WORK  

INSTRUCTIONS 

1. The holiday homework will be considered as your English project work. 

2.  Project will be done in a file (plastic strip file with A4 sheet may also be 

used) 



 

 

3.  Students have to pick one  topic from the prescribed book  prose 

/poetry. The topics selected should be different from one another.  

4. YOUR PAGE SEQUENCE SHOULD BE: 

*page 1: Write -English Project Work, name, class, roll number, topic etc. 

Example 

 ENGLISH PROJECT WORK  

NAME:  

CLASS:  

ROLL NUMBER:  

TOPIC : (from prose / poetry) 

*CERTIFICATE 

This is to certify that I……………………. of class………………….  

have done the English project work on my own. It is my own original 

work as per the guidelines provided by the teacher.  

Signature  

Name: 

 

* ACKNOWLEDGEMENT 

I would like to express my special thanks of gratitude to my teacher 

(Name of the teacher) who gave me the golden opportunity to do this 

wonderful project on the  topic (Write the topic name). I offer my sincere 

appreciation for the learning  opportunities provided by my principal 

(Name of the principal) which also helped  me in doing a lot of research 

and I came to know about so many new things. I am  really thankful to 

them. I would also like to thank my parents and friends who helped  me a 

lot in finalizing this project within the limited time frame 

ROLL NUMBER: 

NAME: 

*INDEX 

* INTRODUCTION 

* ABOUT AUTHOR 

* ABOUT THE CHARACTERS 

* SUMMARY 

* THEME 

* CONCLUSION  

* BIBLIOGRAPHY 

*USE PICTURES AND CAPTIONS WHEREVER POSSIBLE 

 



 

 

ART INTEGRATED PROJECT WORK  

You have to prepare a project on your neighbouring state Kerala  

 Front page  

 Acknowledgement 

 Certificate 

 Index  

 Introduction : About neighbouring state  

 Culture of Kerala – food , dress, tradition dance , people etc. 

 language 

 Religions of Kerala  

 Marriage culture 

 Festivals 

 Art and craft  

 Scholars 

 National Award winners 

 Bibliography  

 Use attractive photographs wherever required. 

NOTE: THE PROJECT WORK MUST BE HANDWRITTEN. ONLY COVERPAGE CAN BE THE 

PRINT OUT WITH SCHOOL LOGO.   



 

 

 प्रश्न)1(निम्ननिखित गद्यांश ां क  पढ़कर िीचे निए गए प्रश्न ां के उत्तर निखिए                                                   

                                                    

भारत में हररत क्ाांतत का मुख्य उदे्दश्य देश को खाद्यान्न मामले में आत्मतनभभर बनाना था, लेतकन इस बात की आशांका 

तकसी को नही ां थी तक रासायतनक उर्भरकोां और कीटनाशकोां का अांधाधुांध इसे्तमाल न तसर्भ  खेतोां में, बल्कि खेतोां से 

बाहर मांतियोां तक में होने लगेगा। तर्शेषज्ोां के मुतातबक रासायतनक उर्भरकोां और कीटनाशकोां का प्रयोग खाद्यान्न की 

गुणर्त्ता के तलए सही नही ां है, लेतकन तिस रफ़्तार से देश की आबादी बढ़ रही है, उसके मदे्दनज़र फ़सलोां की अतधक 

पैदार्ार ज़रूरी थी। समस्या तसर्भ  रासायतनक खादोां के प्रयोग की ही नही ां है। देश के ज़्यादातर तकसान परांपरागत कृतष 

से दूर होते िा रहे हैं। 
दो दशक पहले तक हर तकसान के यहााँ गाय, बैल और भैंस खूटोां से बाँधे तमलते थे। अब इन मरे्तशयोां की िगह टर ैक्टर-

टर ाली ने ले ली है। पररणामस्वरूप गोबर और घूरे की राख से बनी कां पोस्ट खाद खेतोां में तगरनी बांद हो गई। पहले चैत-

बैसाख में गेहाँ की फ़सल कटने के बाद तकसान अपने खेतोां में गोबर, राख और पत्तोां से बनी िैतर्क खाद िालते थे। 

इससे न तसर्भ  खेतोां की उर्भरा-शल्कि बरकरार रहती थी, बल्कि इससे तकसानोां को आतथभक लाभ के अलार्ा बेहतर 

गुणर्त्ता र्ाली र्सल तमलती थी।  

क. हमारे देश में हररत क्ाांतत का उदे्दश्य क्या था? 

ख. खाद्यान्नोां की गुणर्त्ता बनाए रखने के तलए तकनका प्रयोग सही नही ां था? 

ग. तर्शेषज् हररत क्ाांतत की सर्लता के तलए क्या आर्श्यक मानने लगे और क्योां? 

घ. हररत क्ाांतत ने तकसानोां को परांपरागत कृतष से तकस तरह दूर कर तदया? 

ङ. हररत क्ाांतत का तमट्टी की उर्भरा शल्कि पर क्या असर हुआ? इसे समाप्त करने के तलए क्या-क्या उपाय करना 

चातहए? 

                         पयठ्यपुस्तक  

प्रश्न )2(सेनानी न होते हुए भी चशे्मर्ाले को लोग कैप्टन क्योां कहते थे?  

प्रश्न )3(हालदार साहब पहले मायूस क्योां हो गए थे?                

प्रश्न )4(पानर्ाले का एक रेखातचत्र प्रसु्तत कीतिए                                  

प्रश्न )5(“र्ो लाँगडा क्या िाएगा फ़़ौि में। पागल है पागल!”  

              कैप्टन के प्रतत पानर्ाले की इस तटप्पणी पर अपनी प्रतततक्या तलल्कखए । 

प्रश्न )6(मूततभ पर सरकां िे का चश्मा क्या उम्मीद िागता है ?     

                      व्ययकरण एवां रचियत्मक  

प्रश्न -1  अलांकार तकसे कहते है ? उनके प्रमुख प्रकारो का र्णभन कीतिए -                                                                                                     

प्रश्न -2  शीतल ए सी कां पनी  के तलए एक आकषभक तर्ज्ापन तैयार कीतिए –  
प्रश्न -3 अपने तर्द्यालय के प्राचायभ महोदय िी को दो तदनो के अर्काश हेतु     

               पत्र तलल्कखए –  

प्रश्न -4  अपने तमत्र को अपनी िन्मतदन की पाटी के तलए तनमांत्रण देने हेतु  लगभग 100 शब्ोां में ई-मेल 

तलल्कखए।  

प्रश्न -5 िॉक्टर और रोगी के मध्य एक सांर्ाद लेखन कीतिए |  

प्रश्न -6 बच्ोां की तशक्षा में माता-तपता की भूतमका ,, पर एक अनुचे्छद  लेखन कीतिए | 



 

 

Geography 

 Economics 

Answer all the Questions as per the Instructions given below. 

1. What do you mean by development? (Explain in 200 words with Example). 

2. “Once upon a time Iraq and Syria were flourished Countries in the world.” In 

this statement, which is the most important aspect for growth and 

development, explain in minimum 200 words. 

3. Given below, here is a picture of Earth taken from satellite at night. 

Considering this as a tool or measure of development explain the development 

status of different countries around the world. 

I.     Very Short Answer  Questions (1X4) 

1. List any two types of resource on the basis of exhaustibility? 

2. Give two examples of abiotic resources. 

3. Name the land left without cultivation for one or less than one agricultural year. 

4. What is the total geographical area of India? 

II.   Short Answer Questions (2X2) 

1. Define resource. 

2. Mention and explain any two human activities contributing towards land degradation. 

II.   Long Answer Questions  (3X1) 

1. Describe the three major problems  that aroused by indiscriminant use of resources by 

humans. 

III.   HOTS Questions (1X4) 

1. Discuss any four purposes for which land resources are used. 

III.   Creativity based Question (5) 

1. Plot any 5 types of soil in the map of India. (A4 size paper) 



 

 

  



 

 

 



 

 

 



 

 

 



 

 

 



 

 

 



 

 

 



 

 

 



 

 

 



 

 

 


